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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four
choices for answer (A, B, C, D) to each question. Choose the correct answer (one only) for
each question and write the answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing
pages or questions etc. If so, get it replaced with another question paper, before question
paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (-
Y4) mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.
Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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TF TeT I b [T T (1) 37 g1 S| ABRIAE BT B 3R U Told I o ol (-
14) e e SIre|

SR W TBRIAE i P TR Tel Bl

TS FHTC B9 3 SITE U9 O T8 IR YfEiehT udd e bl |ier 4|

HeTeeT, SorrRi e TEl 31 31 Saiaeiie Tied qdar § afed &,

I B IS BT AT IS TET AT =fe.

ofter ST O BT WA B W IEed 1€ B & S

Q No ]Questlon 5

1.

' Find the compound interest on Rs. 10,000 in two years @ 4% per annum, the mterest
| bemg, compounded half-yearly.

(AL 637.55 B. 824.32
] C. 800.00 D. 724.67

Bqﬁmmbqig ST 377d | ufd aef 4% B g asi & | Oooommsqﬁaﬁwg

W@fwnvm fepIT SITQT |

'A. 637.55 B. 824.32 ;
c 800.00 D. 724.67

' Two stations R and S are 400 km apart from each other. A train ]eaves from R to S
% and simultaneously another train leaves from S to R. Both trains meet after 10 hours.
If the speed of the first train is 4 km/hr more than the second train, then what is the
' speed of the slower train?

A 16 km/hr B. 26 knvhr
| C. 18 km/hr D. 22 kvhr

TR R 3R S TH G F 400 FBHT (km) €1 T &T R U S BT AT T Bl © 3K
werﬁieﬁé?sﬁlw?raﬁtwaﬂﬁ%i 2T 24 10 = (hours) & ST fAedl 1 A2 |
mhﬁwﬁ?@ﬁéﬂrﬁm%ﬁmm% A1 et o By i T 82

A 16 km/hr B. 26 km/hr
| C. 18 km/hr D. 22 km/hr
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Due to an increase of 30% in the price of eggs, 3 eggs less are available for Rs. 9 10

‘ | The present rate per egg is -
; A. 91 paise B. 78 paise z
C 48 paise D. 84 paise |

ga%'a?ra'ﬂﬂ?rﬁso% B gfg & BROT, 3 B0 H 3 37 B7 IUAH £, 9.10 507 & faiw) m?r

| SfET TAHA R E -
A.91T B.78 0¥
|C.480H D. 84 %9 |
4, A man travelled first half of his journey at a speed of 60 kmph and the second half of |
his journey at a speed of 40 kmph. Find the average speed of the man. 3
A. 55 kmph B. 57.5 kmph |
' C. 50 kmph D. 52.5 kmph |
E ?
| O AR  STOT T T T T 60 Tebet wifcl =i &t iy & 3t ey v 40 fopedy wfer |
B BTG & o T sTrert b 3ftaa i 31 Aife) |
A 55 febefT mifq efer B. 57.5 fesHT ufel efer
| c.soﬁ#ruﬁra’zr D. 52.5 fepHT wfd =er
§ » SN
13 If one is added to the numerator of the fraction, it becomes one. If one is added to the |
' denominator of the fraction, it becomes 1/2. The fraction is ? - ;
| (A 172 B. 3/5 g
| | C. 205 D.2/3 |
| ﬁﬁq%wﬁwaﬁgﬁmmﬁwwﬁw%mﬁﬁ:ﬁaﬁwmﬁm
| TR 12 AT S 0 |
| (A 172 B. 3/5 |
hE, 278 D. 2/3 |

e

5 The sum of squares of two numbers is 145. If square root of one number is 3, find |
' the other number.

i

LA 136 B. 10
C. 64 D. 8

|
| ST HEATST B Tl B AT 145 21 A UF HeAT F et 3 8, A g wa sl |
(AL 136 B. 10 ;
| C. 64 D. 8
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I 10 bulls can plough 20 identical fields in 3 days working 10 hours a day, then in |

| 7.
' how many days can 30 bulls plough 32 same identical fields working 8 hours a day?
A2 B. 4 |
|C.8 D. 10
AR 10 39 U 10 92 Fm B 20 F9 @dl B 3 A § Sia ged €, a1 30 o
TR 8 €2 BT b 32 FHH Qi i fha AT § Siid Hebd €7
A2 B. 4
C.8 D. 10 ;
8. A scale 6 ft. 8 inches long is divided into 4 equal parts. Find the length of each part. l
A. 17 inches B. 20 inches
{ C.'15 inches D. 18 inches
6Bz § & e U BT 4 S AT H 72T T 2| Hedh M7 bl welTs H1d hlfTg|
A. 17 inches B. 20 inches
C. 15 inches D. 18 inches
g, If selling price of 40 articles is equal to cost price of 50 articles, the loss or gain;
percent is ? ;
! A. 25% loss B. 20% loss %
C. 25% gain D. 20% gain §
af% 40 Tt T T T SO TGl 5 T T 6 R 2, A g AT oA e
87 |
A.25% BT B. 20% &I f
C.25% «TH D.20% 1™
10. | Two numbers are in the ratio 4:5. Their LCM is 240. Find the sum of numbers.

A. 108 B. 120
G 132 D. 98

< TREATHE 4:5 3 ST § §1 ITBT LCM 240 2 | HEATHT &I 41T 371 BT

A. 108 B. 120
| C. 132 D. 98
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1. Flnd out the pair of numbers that do not belong to the group for lack of common
§ ' Property. ;
AL117,13 B 162,18
C.171.19 D. 304, 16 |
3 HEATRAT BT g T BT ST HTHT T[0T <6 39T & BROT GHE  Heifeld 781 2
(AL117.13 B 162,18
C 171, 19 D. 304, 16
12 Fmd the odd one out.
AM B.8
| T D.O
%
AEEEECC]
A.M B.S ?
C T D.O
1.3 Rearlange the jumbled letters and form meamngful Words and identify the odd one |
' among them. ;
' A. VIELR ' B. TRSIH
; ' C. THAER D. SNLUG g
| IcTel gY ARl (STRIeS 98) Pl YA Bl AR Hiefe Ieg ST R ITH @r@ﬁﬁ‘s’aﬁ
Bt
A. VIELR B. TRSIH |
C. THAER D. SNLUG %
14. | Pointing to a man on the stage, Sushmita said, ‘He is the brother of the daughter of |
the wife of my husband’. How is the man on the stage related to Sushmita? :
'A. Son B. Husband 5
C. Cousin D. Nephew i
T O Tep STTCHT bl 3T ORI R Y AT 7 e, ﬂ%ﬁiwﬁﬁqﬁﬁaﬁzﬁruﬁ
B Y R ISR SAfer T gisHar & T e 22 |
A9 B. ufd |
C. TRRTTE D. WIS |
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g 15, Choose the figure which is different from the rest?
EEEITE g
(A) (B) (C) (D) |
A. Figure C B. Figure D |
C. Figure A D. Figure B
% ST A o T & e
A.fErC B.®AD
;c ﬁHA b ﬁﬁfB
i 16. What are the next two terms in the followmg ser:es“’
161,57,50,61,43, 36, 61
| | A.29.61 B. 27,20 |
' C. 31,6l D. 29,22
E
frfefEa @ | e & ug B 4 82
161,57, 50,61, 43,36, 61
; | A. 29, 61 B.27.20
‘ | C. 31, 61 D.29,.22 :
17. | If *white’ is called ‘yellow’, ‘yellow’ is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ is |

’ | called “black’, “black” is called ‘violet” and ‘violet” is called ‘green’, then what would
' be the colour of light emitting from bulb?

l A. Blue B. Red
; C. Yellow D. Black

AT Bl BIAT av_a'rwndl% Carc Zﬁ'@ﬂ?ﬁ ﬁ?@ﬂ:ﬁ aﬁmﬁm%w‘aﬁw% Fﬁ

Tod T Fepet Tl 9T T T7 T B2

A ATr B. T |
| C. e D. Bl

i

Page 6 of 18



18. Kamal is brother of Vimal. Dhriti is sister of Atharv and daughter of Suchitra. Salonl ’
' is wife of Kamal and is sister of Suchitra. How is Saloni related to Atharv?

E

i

| A. Aunt B. Grandmother

C. Mother D. Daughter §
|

e, Termet ot WTS B | HIfa arerd bl e 3R G B & & a?«ﬁﬁwa‘?rq?rﬁ%aﬁi
ﬂﬁﬂTﬁW%I AT, 31erd O fober v Faifea €7 !

;A.aﬁﬁ B. gTer |
c.| D. 3

19. | Ankita’s younger brother Bobby is older than Nilu. Shweta is younger than Rahul |
i but elder than Ankita. Who is the eldest?

' A. Rahul B. Shweta |
? C. Ankita D. Bobby |
é
SATRAT BT BIeT WS STelT Alel T I2T 2| AT TE T BIT & i 3ifebar J F21 2| w@fw
P 27 t
A. T B. &dl '
C. 3ifebsdr D. STeT
20. Find the correct alternative which will replace the question mark?

| S |
|

: %
E i
E 6 |
: 3
5

A 417 B. 444
| C. 846 D. 284
T2 el fehed g2 1T 7o g & &I

A. 417 B. 444
C. 846 D. 284

Page 7 of 18



21

Identify the option that is close in meaning to :

E
| “ vy
- "To make a point of”

' A. to bring into use

B. to tell a wonderful thing
C. to ask many questions
D. to attach importance to

3 faesed Y Ue ST 59 37ef & BT €

"To make a point of "

A. to bring into use

B. to tell a wonderful thing
C. to ask many questions
D. to attach importance to

22,

| D. An error in pronunciation

Choose the correct meaning for "Erratum”,

| A. An architectural mistake

B. A birth defect

C. A mistake in typing or writing
'D. An error in pronunciation

| "Erratum" &1 Hg1 37¢f

A. An architectural mistake
' B. A birth defect
C. A mistake in typing or writing

123.

"The volcano on the isiand is DORMANT."”

A. cold B. inactive
' C. dangerous D. old

2 el § 912 & FolT ety SUger v igdTel 9reg T:
"The volcano on the island is DORMANT."

A. cold B. inactive
C. dangerous D. old

' Choose the most appropriate synonym for the word in bold capitals:
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24,

Complete the following sentences with the most appropriate words/phrases w1th
reference to grammar, idioms, proverbs and syntax. ’
| The}"e is a bridge the river |
| 'A.In B. across
C at D. around
rﬁmﬁ@amﬁwwmmmwﬁﬁﬂaﬁﬁmﬁm
| BEUEIERINIR R Y
| I There is a bridge the river
| A.in B. across
| C. at D. around i
‘ é '
25. | Choose the most appropriate antonym for the word in bold capitals:

"It is COMPULSORY that all members of the board be present at the meeting”

A. optional B. contrary 3
. C. obligatory D. conditional |

| I 18R H 912 & AT qed Suge faeim vree -
"It is COMPULSORY that all members of the board be present at the meeting”

A. optional B. contrary
C. obligatory D. conditional
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'D. To become contemptuous of

'Reorder the following to form a meaningful sentence:

A. have provided us

' B. the works of William Shakespeare
| C. such common expressions

D. that have become

E. that few realize their source

F. with a number of phrases

A. ABDFEC B. BAFDCE
C. AFBDEC D. CDABEF

:Ww%mwmﬁ%ﬁ?ﬁwﬁ@ﬁzﬁgﬁ:waﬁﬁﬁaﬁ:

A. have provided us

B. the works of William Shakespeare
| C. such common expressions

' D. that have become

E. that few realize their source

F. with a number of phrases

' A. ABDFEC B. BAFDCE
| C. AFBDEC D. CDABEF

1o snap one's fingers.

- A. To grasp eagerly

| B. To speak abruptly

' C. To accept immediately

' D. To become contemptuous of

g feieeu T ST U T HETaR T Tay e 3ef e BT €l

To snap one's fingers.

' A. To grasp eagerly
B. To speak abruptly
C. To accept immediately

' Choose the alternative that best expresses the meaning of the given idiom.
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28.

| Read given Active/passive voice and options and choose the correct answer.
| ‘They will rebuild the entire block’.

The entire block is being rebuilt.

The block may be rebuilt entirely.

The entire block will have to be rebuilt
The entire block will be rebuilt.

i
|
i
|

S oWy

%

gﬁqwmﬁﬁﬁamﬁ?ﬁaﬁq’fﬁﬁﬁﬁﬁwqﬁl é
; ‘They will rebuild the entire block’. |

E. The entire block is being rebuilt.

F. The block may be rebuilt entirely.

E G. The entire block will have to be rebuilt
§ H. The entire block will be rebuilt.

[

29,

; In the following questions, a sentence has been given in Active/Passive voice. Out of |
(the four alternatives suggested, select the one which best expresses the same |
sentence in Passive/Active voice. :

‘He had kept up his training regimen for a month.

|
| A. His training regimen had been kept up by him for a month.

' B. Keeping up the training regimen had been done by him for a month.
| B. For amonth he has had been keeping his training regimen.
C. He is training and this has been kept for a month.

ﬁq%@au@ﬁwﬁmﬁr@mwﬁwmﬁmw%nmmwﬁaﬂﬁﬁ
| 3 e T T S RS ST § 9 9T aﬁwﬁaﬁm@r‘mﬂ

Eb‘{?ﬂ%l

' He had kept up his training regimen for a month’.
C. His training regimen had been kept up by him for a month.
D. Keeping up the training regimen had been done by him for a month.
B. For a month he has had been keeping his training regimen.
C He is training and this has been kept for a month. §

l
|
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' A. Lucknow B. Meerut

| C. Lahore D. Amritsar
| AT THeR Pel gl AT

A TGS B. A%

| C. MR D. 3R

30 Choose the one which can be substituted for the given words/sentence.
"Misappropriation of money."
' A. robbery B. theft
- C. embezzlement D. fraud
T8 T Ford 3 T oree/aeRy & wIT oY i far S g |
| "Misappropriation of money."
‘:
A. robbery B. theft
C embezzlernent D. fraud
| 31. 'How many NITs have been estabhshed in India till now"
‘ A 18 B. 31
1 C. 31 D. 20
W & 379 b febe Qe wTfora ford T 27
A 18 B. 31
? C.31 D. 20
| 32. ' How many sc,hedules were there in the or 1g1nal Constltutlon of Indla”
| A. Eight Schedules B. Eighteen Schedules
:‘ C Fourteen Schedules D. Nine Schedules
mrcr & oot dferer § febat srpgfaar off?
A e SRl B. 3T3NE ATTHfAl
C.=fee gt D. Hﬁﬁm
§ | Where did the brutal ‘J allianwala Massacre’ take place?
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s - '
- The Tropic of Cancer does not pass through —

| 34. |
I F E
| | A. Rajasthan B. Odisha E
' C. Chhattisgarh D. Tripura §
| Tk (T el 9 Tl Tl # - |
AL TR B. 3ffeem

| C. BXITg D. BT |
' 35. Humayun Kabir was a famous ;
A. dramatist B. musician E
C. essayist D. story writer i
§
EHIY e Uk UiHg S |
A TTEHBR B. Hlde®R |
| C. Feyean D. BEHIBR E
36. Which of the following is a non-renewable resource? ;
A. Solar energy B. Wind energy ;
C. Coal D. Tidal energy E
AT & 2 BT |1 U Ao HaTe 27 |
A GRS B. U Jsfl :

C. BIgT D. ST St
i 37. | What percentage of the earth's surface is covered by water? (
A. 20% B. 40%
C. 60% D. 80% S

| geeft BT e BT TebeT AfTer 1T e & el g 27

A.20% B. 40%
C. 60% D. 80%
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38. In 2019, Which popular singer was awarded the Bharat Ratna award?

i A. Lata Mangeshkar B. Asha Bhosle
' C. Bhupen Hazarika D. Manna Dey

,2019ﬁ,%€aﬁzﬁﬁﬂwaﬁmwwﬂﬁwﬁﬁﬁﬁmW?

one's own religion ?

A. Fundamental Rights

| B. Concurrent list of centre and the States
C. Democratic rights

D. Directive Principles

Jaﬂﬂrﬁém%'?

| AT AR
B. %2 37 Tl ol gradl Tl

C. TR TR

LA AT HSTRT B. 37T9TT HiGet ;
c. P@?E\_ﬂﬁ?ﬂ D. n:ﬂ% |
34 Wthh part of Indlan Constitution a]lows every citizen to 1rnpa1t education as per

Mﬂﬁﬁa@rﬁraﬂzﬁraﬁqmwmmﬁaaﬁmuﬁaswﬁrmamw?ﬁ

| iﬁmﬁ@ﬁﬁ@raﬁ?m@ﬁﬁmﬁwaﬁammwmuﬂm%‘?

D2 .
40. Which of the following musical instruments is played by Amjad Ali Khan?
| A. Veena B. Tabla
C. Sarod D. Guitar

AT B. &ecl
| C. /% D. ffeR
' 41. Wthh of the tollowmg is an example of page 0r1entat10r1°
A. Landscape B. Subscript
| C. Superscript D. A4

ArefafEd & & S 97 O MUY o7 32701 22
AL SeERT B. GEfGre

C. gWRiEp D.A4
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4.

|
i

i
|

;
. What is gutter margin?

1
i

' A. Margin that is added to the left margin when printing
| B. Margin that is added to the right margin when printing
| C. Margin that is added to the binding side of the page when printing

i‘ D. Margin that is added to the outside of the page when printing

fnzwﬁ:rwé?

| A. e A 1 T ot e i T e o 2

| B. T8 I ST o7 A e < A e e 2
. SR S T e e 9 85 T e e e 2
D, TSI ST 20T XA T I8 3 ST Silel 1T &

43.

i What is the correct syntax of IF() function?

i A. =IF (logical_test, {[value_if true]}, {[value if false]})

| B. =IF (logical test, TRUE([value_if true]), FALSE([value if false]))
5 C. =IF (logical_test: [value_if true], [value if false])

'D. =IF (logical_test, [value if true], [value if false])

| () SR o6 e e o 27

A =IF (logical_test, {[value if true]}, {[value if false]})

| B. =IF (logical test, TRUE([value if true]),
FALSE([value_if false]))

| C. =IF (logical_test: [value if true], [value if false])

' D. =IF (logical_test, [value_if true], [value_if false])

Page 15 of 18



What happens when you click on CTRL + X after selectmg some celis in Excel?

44, E
| A. The cell content of selected cells disappear from cell and stored in clipboard
' B. Value in the cells selected are marked for cutting
| C. The selected cells are deleted and the cells are shifted left

' D. The selected cells are deleted and cells are shifted up |

STE 319 TRl B B el T & 18 CTRL+X W fefeieh et & ol o7 €1efl 22

A, =T e 1 Gt AT AT T 81 S & o e g @ ol @
B. TafTd SIfSiese & 7 @l bred & fore fafgd fear mar g

C. =i et 2 TR e # 3 &t a7 SR iR o R o
D. Tt et 7t Ry T & 31 et 7 i 3% g o &

45. In MS Power Point presentations, the designs regulate the layout and formattmg for
the slide. These are commonly known as:

A. Blueprints B. Placeholders
C. Templates D. Design Plates

e TR W S, FETTe FTee % v evetee sit A B Frifa w21

| 5% STTHAR U ST AT & S I & |
A. S B. wideest |
C. 3reiey D. fe¥TTe i |
46. | Which E-mail protocol is outgoing protocol? '
- A.IMAP B. SMTP %
| C.POP3 D. None of Above |
P T S HIETBTA AT HABIeT €2
|A.IMAP B SMTE
C. POP3 D. ST 7 PIE el

Page 16 of 18



47.

i
| "@" in an email address is used to
Separate username from ISP
Create password for email

Add strength to email
None of the above

‘éﬁauﬁﬁ"@"wmﬁw & foTT fosarm ST 21

|

!
(A, UL AT BT ISP ST |
B. € & fo o e |

C. e AT
ID gtlﬁﬁiﬁl‘sflﬁﬂﬁ |

| 48.

; Which of these Power Point features would allow any user to create a given smlple é
| presentation quicker?

f A. Animations |

}B. Chart Wizard

' C. Transition Wizard |

D. AutoContent Wizard §
E

?@ﬁﬁaﬁ?ﬁwwgﬁm%@ﬁWﬁﬁﬂéwmﬁﬁaﬁsﬁﬁw
& AL 29
A. THAESH {
B. = favire 5
C. HspHT fauTre
D. i Rwe

|
|

l
|
a

49.

| The "S" in HTTPS stands for?

A. Selected B. Secure
 C. Software D. System

HTTPS # "S" & HdaTd RIT 27

A. Selected B. Secure |
| C. Software D. System |

Page 17 of 18



50.

1

The four types of mail merge main documents are

Form letters. envelopes, mailing labels and catalogue

Form letters, directories, catalogues and envelope

Form letters, envelopes and mailing labels, directories and lists
Basic letters, envelopes, labels and list

oOw e

:WWR%%HﬁE@IW H

A, i o, feTs, AfeiT ere 3R deet

B. Wi AT, FEfSIAIE, et 3 fewhrT
C. w7 v, FeroeTds 3R AT eare, e s ok giRat
D. el 7, oI, Tere A et
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